Form No. 100566
Parts List and Operating

%/‘ WW Instructions:
; GBI 9608

PRESSURE REDUCING VALVE

Note: The vent hole in the spring housing
must be positioned in a downward
direction to prevent the collection of
contaminants around the spring!

Sheet No. 1o0of2

© SPX Corporation Rev. 4 Date: 12 Apr. 1999




Parts List and Operating Instructions,

Form No. 100566, Back sheet 1 of 2

Item Part No. Item Part No.
No. No. Req'd Description No. No. Req'd Description
1 11006 1 Soc. Hd. Cap Screw 16 203364 1 Replaceable Seat
(Torque to 80/100 in. Ibs.) 17 14443 1  Steel Ball (3/32 Dia.)
2 11031 1  Copper Washer 18 29785 1 Ball Retainer
(15/32 X 5/16 X 1/32) 19 209260 1  Compression Spring
3 11024 1  Compression Spring 20 200539 1  Ball & Spring Guide (No o-ring req.)
(1/4 O.D. X 5/8 Lg.) 21 10261 1  Copper Washer
4 10374 1  Steel Ball (7/32 Dia.) 22 26570 1 Guide
5 209251 1  Retainer Washer 23 15503 1  Set Screw (1/4-28 UNF X 1" Lg.)
6 11863 1  Backup Washer (1/2 X 3/8 X 1/16) 24 10200 1  Hex Nut
7 10268 1  O-ring (1/2 X 3/8 X 1/16) 25 209249 1  Spring Guide
8 22068 1 Bushing 26 209259 1  Compression Spring
9 12392 1 Backup Washer (3/4 X 5/8 X 1/16) 27 209254 1 Disc
10 10302 1  O-ring (3/4 X 5/8 X 1/16) 28 304458 1  Spring Housing
11 12391 2  Backup Washer (11/16 X 9/16 X 29 10387 1 HexdJam Nut
.048) 30 11154 1  Set Screw (3/8-16 UNC X 2" Lg.)
12 11284 1  O-ring (11/16 X 9/16 X 1/16) 31 304457 1 Collar
13 200542 1 Balanced Poppet Half 32 10016 4 Soc. Hd. Cap Screw
14 61121 1  Valve Body (1/4-20 UNC X 1" Lg.)
15 14319 1  Copper Washer (5/16 X 3/16 X 1/32) 33 209294 1 Decal (Not shown)
SPECIFICATIONS

This pressure reducing valve is used to
provide an adjustable regulated pressure
which is lower than the supply pressure. It is
used for applications where more than one
pressure is required from one pump. This
valve can be used with either single-acting or
double-acting hydraulic cylinders and can be
used with various types of hydraulic pumps.
It can be used with a series of cylinders to
control the multiple pressure drops
independently (see Fig. 1) or simultaneously
(see Fig. 2).

Turning the adjusting screw clockwise (ltem
30) will increase the downstream pressure.
Turning it counterclockwise will decrease the
downstream pressure of the next cycle.
NOTE: It will not decrease the downstream
pressure of an already pressurized system.

IMPORTANT

® Port "A" is rated at 10,000 PSI maximum.
Reduced outlet pressure port "B" is
adjustable from 1000 to 5000 PSI with
pressure adjustment screw.

[N

|
I
| SET AT |
l gjzooo PSI ‘
PORT "a" 1P E < '

'

Lot r—— @

I L :
' SET AT
} 5,100/5,700 PSI

HYDRAULIC SCHEMATIC

INDEPENDENTLY OPERATED

DRAIN TO RESERVOIR

Fig. 1

PRESSURE
REDUCING VALVE
SET AT LOWER
PSI THAN PUMP

° cYL
VLV —{

REDUCED
PRESSURE

| PUMP

SAME
cYL.| PRESSURE
AS PUMP

SIMULTANEOUSLY OPERATED

DRAIN TO RESERVOIR

. PUMP
|

VLV

Fig. 2

PRESSURE
REDUCING VALVE
SET AT LOWER
PSI THAN PUMP

REDUCED
cyL.| PRESSURE

SAME
CYL.| PRESSURE
AS PUMP




Parts List and Operating Instructions

Form No. 100566

-y

PRESSURE REDUCING VALVE
SETUP INSTRUCTIONS

Hook up the pump pressure line to the "In"

port "A".

Hook up the reduced pressure line to the

"Out" port "B".

Hook up the drain port "T" to the pump

reservoir.

Set the reduced pressure relief valve by first

turning the pressure regulating screw "C"

(on the end of the aluminum spring tube) in

solid and then:

a. If a hand pump is to be used with the
system, set the small relief valve screw
"D" (located next to the "In" port "A") to
200 PSI above the desired reduced
pressure setting. This is accomplished
by setting the relief valve while pumping
oil through the system.

b. If a power pump is used with the
system, set the relief valve (as above) at
1,000 PSI above the desired reduced
pressure setting.

Release the pressure from port "A" and
adjust (CCW rotation) the pressure regulator
screw "C" until it's free.
Direct hydraulic pressure to port "A" and set
the desired reduced pressure level by
adjusting (CW rotation) the pressure
regulating screw "C" to the desired setting.
Cycle the system between zero and the
desired setting and make minor adjustments
to the pressure regulating screw "C" as
required. Once the valve is set to operate
on rising pressure, further adjustments will
not be necessary.

NOTE: The regulated pressure relief valve is

designed to protect the system from
over pressurization due to wear, dirt,
heat, or misadjustment of the
pressure reducing valve. Any over
pressurization to the relief valve
setting would indicate that valve
maintainance is necessary. Oil
leakage from drain port "T" is an
indication that the relief valve setting
has been reached. This valve is
factory set at 5,100/5,700 PSI.

AWARNING

Port "T" must not be plugged or
damage to the valve or external
components may occur, which could
cause injury to the operator.

TEST PROCEDURE DIAGRAM

SCREW
g

VALVE HYD. HOSE
(2 PLACES)
SCREW
‘0"
$ EXTERNAL f
=1 T m=p
4 RAM
10 TON
1-1/2" STROKE
POWER HYD. HOSE
PUMP (2 PLACES)
AUXILARY
PUMP
(MAX. 25 IN?)
RESERVOIR

The diagram above is for hydraulic assembly test only
and has nothing to do with customer setup.

SAFETY e
VALVE
1 1-9/16 INLET PORT "A" (PRIMARY)
i/4 NPTF
| .
. 2 MTG. HOLES
5/8 \4@ V. $/32 DIA.
P LOCKNUT
T 4 7
il
4-1/16
3-5/16 L
I
é{ Tl PRESSURE
378 ] MR ADJUSTMENT
J L . SCREW
3/8
OUTLET PORT "B" (SECONDARY)

DRAIN PORT "T"
I/8 NPTF

1/4 NPTF

e 6-5/16 —— = 1-7/16

1-1/2

.

P

Note: Shaded areas
reflect last revision(s)
made to this form.

Sheet No. 2o0of2

Rev. 4 Date: 12 Apr. 1999





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


